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Question Id : 9909114808 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (1to 20)
Question Label : Comprehension

Data Sufficiency &agro® HoegRd

Note:In the following 20 questions , each question is followed by data in the form of two statements labeled
as I and II. You mwmst decide whether the data given in the statements are sufficient to answer the
questions. Using the data make an appropriate choice from (1) to (4) as per the following guidelines:
a) Mark clioice (1) if the statement I alone is sufficient to answer the question.
b) Mark choice (2) if the statement II alone 1s sufficient to answer the question.
¢) Mark choice (3) if both the statements T and IT are sufficient to answer the question but neither
statement alone is sufficient.
d) Mark (4) if both the statements I and II together are not sufficient to answer the question and
additional data 1s requured.
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Sub questions

Question Number : 1 Question Id : 9909114809 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

. 3, gv3_z?
What is the value of Z=22X =%

xyz

3,033 :
EEEYTTZ ove 15 Doed?

X¥E
I. =xt2y=z

I. x>y>z

Options:
1.1

k-2
L-2

oW
[ R Y

Question Number : 2 Question Id : 9909114810 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Is n a prime?

1 O°) 03077

I pisaprimeandp < n=pin

P DD Doy B p <Vn=pin

II. Z2In

Options:
1.1

k-2
-2

B W
[ A WY

Question Number : 3 Question Id : 9909114811 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Can you construct the AABC with sides a. b and ¢?

Zoazaawen ab.ec ew e e AABC &o maémﬁmm?

L. a=b=c
11 a=2.b=6.c=9

Options:
1.1



k-2
-2

o
J= L

Question Number : 4 Question Id : 9909114812 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
What is the length of the train?

Oen PEay) doed?

I.  The train crosses a lamp post in 10 seconds.

28 B Pozio o Jew 10 DEoce” orenauod

II.  The train crosses another train standing on the platform in 16 seconds.

5 a00 a1 €30 DT T Gensd S Tew 16 DE0Ee” Treneod

Options:
1.1

k-2
L-2

o
d= L

Question Number : 5 Question Id : 9909114813 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How much canvas 1s required to erect a tent in the shape of a cylinder surmounted by a
cone having the base radius same as that of the cylinder?

wE QPDoR T TEIPger)” DAFIRND  APTgrge S8AD  DoanHad eS80
es5Goed” (o) LoD DB odEIS SPHORN SR (DG Hoed?
I.  Height of the cylinder i1s 5 meters.
RAPOQ) B0 5 D
II.  Radius of the cone 1s 3 meters

30200 TG0 3 DD

Options:
1.1

k-2
-2

oW
J= 0 wa



Question Number : 6 Question Id : 9909114814 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
What 1s the 3 digit number?

Q00O Vo ) A 4

I 1/3™ of that number is 27 less than half of that number,

Fa::n;péeﬁ"” SOPCEOET0, €3 ﬁo;}gﬁjﬁ Rrio S0€3 27 By

1L One-fifth of that number 1s 20% of that number.

e5 002§65" = 27710 €3 Do[ES* 20 % & DA

Options:
1.1

o]
L2

Rl
J= L

Question Number : 7 Question Id : 9909114815 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the arithmetic mean of 14. 20. 40. 52 and x 1s m then. what 1s the value of m?

14, 20,40, 52, x© CEJJQET e908 m%mo m £900063. m eV JHoed?

1I. X < m

Options:
1.1

o]
]

oW
d= 0 La

Question Number : 8 Question Id : 9909114816 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



What 15 the salary of C i a group of A. B. C, D. E and F whose average salary is Rs,
60.000?

A, B. C. D. E. Fo Hoen &evo aor. 60,000 eaond es manrsroes” C aI0g) 2630 Doed?

I.  Total salary of A and E is Rs. 64.500.

A, E © 2éto 2o dr 64,500,

II.  Total salary of B and F is Rs. 52.600.

B, F & 2uoedo &eso @r52,600.

Options:
1.1

o]
L2

Rl
J= L

Question Number : 9 Question Id : 9909114817 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
The ages of Tanishk and Sunil are in the ratio 5:6. What 1s the age of Sumil?

B, IS © HODWO Ay 5 1 6. WS ALY HODAD Joe?
I.  The ages of Tanishk and Deepu are in the ratio 3:2
B, G0 Sabe DG 3:2

II.  After 6 years. the ratio of the ages of Deepu and Sunil will be 6:7

6 DoDBYOPRD MRS, BaY) fS © GIE), HODRAND D& 6:7

Options:

k-2
L2

o
[ R W

Question Number : 10 Question Id : 9909114818 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



What is the smaller angle in the parallelogram?

AT 0N ﬁmmae&mf’i) Ejéiéﬁmo Joed ?

I.  Ratio between the angles of a triangle 1s 3:5:4 and the largest angle of the triangle
15 34° less than the larger angle of the parallelogram.

Sebaoes’d pave g 3:5:4 oan gibae 6D DY Emo, DAT0aC
De0M20 &5°D D Feso Sot 34° B8y O
II.  The sum of the larger and smaller angle of the parallelogram 1s 180°

REATF0aE DM@ &) DG, DY Ersowr Dogo 180°

Options:
1.1

k-2
L-2

o
d= L

Question Number : 11 Question Id : 9909114819 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What 1s the minimum pass mark in the test?

es DB2S° £V &Sgar Arcy en I ?

I Anil scored 25% marks in the test and Sunil scored 288 marks which 1s 128 marks
more than Anil,

es 05T e9DeS £ 25% i‘x}“m&m&j{ﬁt}xﬁ& Des £ 288&‘1}“{1}5@ a‘;:‘f&(}. e94) €908
T°C) €0 o] 128 ;)é%sj.

II.  Anil scored 64 marks less than the minimum pass mark.

9065 £ D ESgS A6 00 Sof) 64 AT L0 BEY D HVNID.

Options:

-2
-2

oW
[ R W

Question Number : 12 Question Id : 9909114820 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Karuna is in which direction with respect to Aruna?

eacEath Schea 9 55%@6 DY B

I. Yamuna is to the south of Aruna and Karuna is to the East of Padma who is to the
North of Yamuna

MRS GLH0MT DAV ,DELL BIEONT 006, DAV &B0oT DO

l‘.%ﬂ"l{i.'} ;

II. Padma 1s to the south of Aruna.

eaEIS) GLcrorT 23}, @;ﬁiﬁm.

Options:
1.1

L2
-2

oW
[ R W

Question Number : 13 Question Id : 9909114821 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which train did Amar catch to go to his office?

96 SPOPO0ImDS DYHEIS a6 D Tew eocE ™) c?

I.  Amar missed his usual tramn scheduled at 10.25 am. A train comes in every 15
minutes,

10.25 a.m £ Jrordeor™ 20Hendd Gensy b eotf e onareD. p& 15

DTV 208 Tew DN

II.  Amar could not get into the 10.40 a.m train.

10.40 a.m Benso 9206 e9ocE SEN oD

Options:
1.1

o]
]

oW
d= 0 La

Question Number : 14 Question Id : 9909114822 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Among the five friends P. Q. R. S. T who eams more than only the least earner among
them?

P,Q.R S, Ten D)araoen, a°0e5° e9ds GEVEY DoFPGED 0] 5 mnava@ml&
Dadd?
I. @ earns more than P and S but less than R only.

Q Doarad P sndoiw S Soéd D50, 52 R S0l DE) .

1L P earns more than S who earns less than T.

S SoéJ P DSy 0 a0bain T Sot3 S BE) moﬁ‘ﬁ“@}a‘lm

Options:
1.1

k-2
L-2

oW
[ R Y

Question Number : 15 Question Id : 9909114823 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How 1s A related to B?

B £ A DG DoerodEc?

I. L who has only two kids A and B. 1s the mother-in-law of M who 1s the sister-in-
law of B.

L £ g aven A andain Bew, M 6ing), @ L. B £H M 508

II. N who 1s the sister-in-law of A. 1s the daughter-in-law of T who has only two kids
A and B.

AON 262, TON Feen, T £ 200 d0e0 A 2odoin B e argad

Options:
1.1

k-2
L2

o
[ R W

Question Number : 16 Question Id : 9909114824 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



What 1s the slope of the line OA?

A (a.b)
0% 0o OA cﬁ:uézr aJPeL) Doed?

I a=b

II. b=6cm (Ro.a0)

Options:
1.1

o]
L2

Rl
J= L

Question Number : 17 Question Id : 9909114825 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If P. Q. R are 3 points on a circle, then what 1s ZPQR

P. Q. R e 28 360 2 aure Dotoapwondd LPQR Joa?
I. 2sPQR=60"
II. PR 1s a diameter of the circle

9,@3 PR a7§w0

Options:
1.1

k-2
-2

B W
[ A WY

Question Number : 18 Question Id : 9909114826 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

414
a*— b*,

What 1s the value of o
bz

a
at— b*

a?h?

cﬁnﬁb e a) D0oEd?7

I. atb=4

II. a—b=2
Options:
1.1



k-2
-2

o
J= L

Question Number : 19 Question Id : 9909114827 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What 1s the sum of the two positive mtegers a and b?

ol [ARRALS WQGS“E_H a, b © 2o Joed?

i The ICM ofaand b 1s 52

a. b e €. 52

. Oneofaandbis 13

a. b o5 2,56 13

Options:
1.1

o]
L2

Rl
J= L

Question Number : 20 Question Id : 9909114828 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What s n(AUBUC)? c a A

n(AU B U C) does? /D

I. n(AUB)=36
II. n(C)=28

Options:
1.1

o]
]

oW
d= 0 La

Question Id : 9909114829 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (21 to 30)
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Question Label : Comprehension
Problem Solving
DB GD

Sequences and Series
R0 EA0men, Fraven

Note: In each of the Following 10 questions a sequence of numbers or letters that

follow a definite pattern 1s given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence without
breakimg the pattern.

Arsd:  §odd AND 10 005 08 0F S 0 DD Dopen D) wETRD S W
SREID DADIEY) FOROT) 0. DA DGV gD ADND T DAyTR
Aotk WO wond 2aorendd ;}:{D&Qﬂ} DG DODATIE orfo  LewriLror®
DPBoTd).

Sub questions
Question Number : 21 Question Id : 9909114830 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
AB: 144 :: BE :
Options:
625
l.

121

L2

Question Number : 22 Question Id : 9909114831 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Ca: 73 LS
Options:
| 1911

1912

]

3 1812

4 1910



Question Number : 23 Question Id : 9909114832 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

5]|3:34 :: 6] 3:
Options:
1. 46

47

-2

45

44

Question Number : 24 Question Id : 9909114833 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

ACE : ZXV :: KID ;

Options:
| PRX

PRY

]

7. PR,

4 PRW

Question Number : 25 Question Id : 9909114834 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

RAT: e ANH 2 EEN
Options:
1 IZF

IZG

L2

IZH

Question Number : 26 Question Id : 9909114835 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

15,35, T7, 143, 221,

Options:



, 256
, 484
y; AZ3

Question Number : 27 Question Id : 9909114836 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fast : Hunger :: Run :

GadedPa00 : e388) = Ddorh
Options:
| Win #exsdcio

Voice "n)n(jti-c:-

Fatigue 008

L

Choke vﬂgﬁ.}mm

Question Number : 28 Question Id : 9909114837 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Askew : Straight :: Rough :

086: HOTP =2 (e :
Options:

Tall e
L.

Smooth 00

-2

Tough &30

High &) oan

Question Number : 29 Question Id : 9909114838 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



C_180 E.
E 27 N
Options:
266
1 45
126
L 45
190
3 50
216
4 50

Question Number : 30 Question Id : 9909114839 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

ACFT : ZXUQ :: VTQM
Options:
EGIN

1

 EUQN

L2

EFKM

4 FHIL

Question Number : 31 Question Id : 9909114840 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the Following questions pick the odd thing out.
8005 ADND 0F) S 08 TS Gotsdw
Options:

1.

[ ]
it
&0
-1



Question Number : 32 Question Id : 9909114841 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the Following questions pick the odd thing out.

805 ADND 03 S 08 T'IS Gotsodw

Options:

, FIT

SIT

k-2

; FIT

HIT

Question Number : 33 Question Id : 9909114842 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
In the Following questions pick the odd thing out.

3065 ADND V3OS 28 TS DYocsdw

Options:
| 37

£

-2

Question Number : 34 Question Id : 9909114843 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
In the Following questions pick the odd thing out.
8065 ADNS 03 VS 20 TG dGoesodw
Options:
X

3 W



4 T

Question Number : 35 Question Id : 9909114844 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the Following questions pick the odd thing out.

3065 ADND V3OS 28 TS DYocsdw

Options:

| ABEC

IDOF

B ]

UGAH

, JEKI

Question Number : 36 Question Id : 9909114845 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note: The following question follow a definite pattern. Observe the same and
fill m the blanks with suitable answers.

62008: $08 FOND D) 26 A BN JaAFI) JBR b
&5 DoHATD) (1200 VO VAFETOE arPV Ootod.

1, 1,2, 8. 3,27.4, 64, 5,

Options:
1. 81

100

o]

Question Number : 37 Question Id : 9909114846 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Note: The followillg question follow a definite pattern. Observe the same and
fill m the blanks with suitable answers.

62008: S08 FOND HF) 26 A BN JoDAFI) B 0d
&5 DoDHATD) (120Do) VO VIFETOE 2P0 ool

14,10 20, 35; 56,

Options:
1. 03

84

96

Question Number : 38 Question Id : 9909114847 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note:  The following question follow a definite pattern. Observe the same and
f1ll m the blanks with suitable answers.

f63008: S0 AN ) 28 HDYBHoVH JaLEFY) IR 0B
&3 DODPAFDY V0D VOOV VITFETTVE 7PV QFBoIod.

3.9,27.81,243,

Options:

| 486

. 729
5 972

, 693

Question Number : 39 Question Id : 9909114848 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Note: The followillg question follow a definite pattern. Observe the same and
fill m the blanks with suitable answers.

63008: S08 FOND 0B 26 DA BN JoDIFI) B 0d
&3 DODAFDY AV VO VIFTTVE PR 000l

2.6,20,42, 110, 156.

Options:
| 178

216

k-2

Question Number : 40 Question Id : 9909114849 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note:  Thefollowing question follow a definite pattern. Observe the same and
fill m the blanks with suitable answers.

63008: S06 AND 03 ¢ HAYBHOVH DALBFI) JBR 0B
&3 DODAFD)Y AV HBADDH VIFTTVE PO Qrdotiol.

17. 37,65, 82, 101, 145,

Options:

| 170

-2
[a—
D
-1

Question Number : 41 Question Id : 9909114850 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Note: The followillg question follow a definite pattern. Observe the same and
fill m the blanks with suitable answers.

62008: S08 FOND HF) 26 A BN JoDAFI) B 0d
&5 DoDHATD) (120Do) VO VIFETOE 2P0 ool

10115 125 34 16
9 2 7 3

Options:
;. 20

18t
5

~

Question Number : 42 Question Id : 9909114851 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note:  Thefollowing question follow a definite pattern. Observe the same and
fill m the blanks with suitable answers.

63008: S06 AND 03 ¢ HAYBHOVH DALBFI) JBR 0B
&3 DODAFD)Y AV HBADDH VIFTTVE PO Qrdotiol.

Options:

&

o Th

6
&

Question Number : 43 Question Id : 9909114852 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Note: The followillg question follow a definite pattern. Observe the same and
fill m the blanks with suitable answers.

63008: S08 FOND HF) 26 DA BN JoAFI) JB b
&3 DODAFDY AV VO VIFTTVE PR 000l

B.C.E G KM,

Options:
1 ‘@

L2

Question Number : 44 Question Id : 9909114853 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note:  The following question follow a definite pattern. Observe the same and
fill m the blanks with suitable answers.

63008: S0 RN 03 26 HIYBHOVH DaLEFI) IR 0B
&5 DODPAFD V0D HBADD VIFETTVE PR B0l

(2, %) B.X), 5.V, (7.1, (11, P,
Options:

, 13.Q)

(13.N)
(13.R)

- (13.L)

Question Number : 45 Question Id : 9909114854 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Note: The followillg question follow a definite pattern. Observe the same and
fill m the blanks with suitable answers.

62008: S08 FOND HF) 26 A BN JoDAFI) B 0d
&3 DODAFDY AV VO VIFTTVE PR 000l

2 510 1% 26
2" 9 28 65 126

Options:
29

| 147

33
179

o]

35
3 199

37
it AR

Question Id : 9909114855 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 48)
Question Label : Comprehension



The following table gives information about the production of wheat in million tons of 4
major states A. B. C. D from 2014 to 2018. Based on this information given in the table
answer the following questions

2014 0ol 2018 DodeTroes” 4 DY TraPenA. B, C. Dexd” fichad &g oo

E.Jr‘ﬁ)iﬁ)ﬁj'e QOCod. 306 DL AOND DATTT°D) BEGOTT S Y] mrﬁaa

D) VL VATV PDJOC.

2014 2015 2016 2017 2018
248 271 312 295 328
B 235 285 307 315 323
i 261 243 251 267 280
D 206 228 AL 5. 280 291

Sub questions

Question Number : 46 Question Id : 9909114856 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In 2017 the states each of which have produced more than 20% of the total production of
that year 1s

2017  DoDBy0o &° D ToglPen AB0 DoereS” 20% Sot3 L) & FDORD &ByH SJron
Options:

i A, B. C only

A C.Donly

L-2

3 B.C.D only

A,B.C.D

I

Question Number : 47 Question Id : 9909114857 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



The state which has registered highest growth percentage in the production of wheat in the
given period is

& 206 TS D ohge Hoban &0 G DAOMEOMD DD DavoDoes” e STy

D5 TS0 SRS Te A (VAT

Options:

1.EI

A

Question Number : 48 Question Id : 9909114858 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The percentage increase of wheat by state D corrected to two decimals in the year 2017
over the year 2015 1s

2015 sy 2017 Urﬂﬂ&‘)@nﬁﬂ‘fjb D t7jo Jo® Fedo DOMEBOD drdood (Sod GF03

FTOD DOBool)?

Options:

| ==.08

Question Id : 9909114859 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (49 to 53)
Question Label : Comprehension



Study the following Pie-chart carefully and answer the followmg questions

& 300 P-DLO AW TP DOV S06 VNS D) O VAFEH0 Tool

A survey is conducted on 10. 500 people of the town to find the various professionals and
percentage of female professionals amongst them.

28D8E065°10,500 HFE0°D)R DDEVORD, VPV P DY T S 0L
208 DB DI,

Percentage of female professionals

engineers S0aTY® a3y DN TS0
(0%ogsdo -
engineers 60%
(cogdsedoen)
v designers 35%
esigners =
(B3y6 (uf:lé.mﬂ)a)
<03) doctors (Dcogen) 20%
16%
lawyers 40%
(Fryotarcen)
teachers(esararyainen) | 80%
architects (Jewew) 40%

Sub questions

Question Number : 49 Question Id : 9909114860 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The difference between the total number of female and other professional of the town 15

Q0T DB VoY , D BT Ee VoL &G0

Options:

| 1134

L2

1164

1204

Lad

, 1224

Question Number : 50 Question Id : 9909114861 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Female architects, female teachers and female designers are what percent of other doctors.
other engineers. and other lawyers?

VPY® FUNED, AVaPY® ElDoI0eD andain dare DY E TRy, Do DELED

Q0oBSTEOeD, T§aDTEIvE” Jodd TEs0?
Options:

| 62.1%

63.5%
63.9%

64.2%

Question Number : 51 Question Id : 9909114862 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Female doctors are what percent of the female teachers in that town?

€5 DL DaPY® EaFTP{OINe)” dDaPYe DEED Joed Feo?
Options:
| 20

25

Question Number : 52 Question Id : 9909114863 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The ratio of the number of non-female architects to the number of female teachers 1s
VPPN 577 FEOYED D03 SValT” Eﬂ“@“ﬁﬂ:il}ﬂ Roae) DG Joed?
Options:

| 9:13

5 10:17

=

11:20
3



4 13:18

Question Number : 53 Question Id : 9909114864 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The ratio between the total strength of female architects and female lawyers to that of the
other doctors and other engineers 1s

QaPY® FUNED, DaPY® TPODITEEN QLGB0 DoDf B0 arven 5m) PEIe,
0IDOBS O WODFR) Dy

Options:
1 243

3:5

k-2

Question Id : 9909114865 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (54 to 55)
Question Label : Comprehension

In a group of hundred people each person speaks at least one of the languages Telugu,
Kannada or Hindi. The number of persons speaking only Telugu 1s 25, only Kannada 1s 15
and only Hindi 1s 35. 7 persons speak Telugu and Hindi only. 8 speak Telugu and
Kannada only and 5 speak Kannada and Hindi only. Basing on this information
answer the following questions

100 2006 SHFERVIY 28 DAFEPoS” PA WwE O VD, SHE TE Fod erlee”
E002.8), T OV ATEPETm. DBES° oD ArGD AFEFE TV, Dodj 25, Sy a
SPGD QPSR 15 080T Pl ATFED AFEFE TPy 35. D85° 7 o Bewr,
o8 PG AFEFEOEP®m. § 08 £5) & BATL Ben, SHM I C WO Fod

QPSR ATEPEIEE. S GEP0F0 e3TTCorT 3069 "&rﬁaﬁ.‘) 03 O VATTHO T7ODOC..

Sub questions

Question Number : 54 Question Id : 9909114866 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



How many persons in the group speak all the three languages

QN DATIP0ES” JoBa0E HFEIRL DGO AIPED TN IEFEIED
Options:
1. 6

[ ]

Question Number : 55 Question Id : 9909114867 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The percentage of persons in the group who can speak at least two languages

QNS DAPET0” EID0 Tot) 2PN AEPET D TS0

Options:

20

[ )
L

Question Id : 9909114868 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (56 to 60)
Question Label : Comprehension



Coding and Decoding Problems
Eéof, A5 doh pRge

Arrange the letters from A to P as shown in the following figure. Then these letters are
coded as follows: Reflect the circle about the line [; and then about /3. The resulting new
positions of the letters are codes of A to P respectively 1.e.. A codedas L. Beodedas J. G
ceded as C ete. Using this coding process answer the following questions

Q00D LT A ol P D05 & $08 Do & APDHLOT eTND. BN &
RETPORD & 308 DGO Byt EE SFM. & HyErdy DOVE I m;@as DTG0 B
€953 (D WOWTD 12 cjagné DTHGH0 B & SN EY FTred” A dod P 50D Ry
wiTroH L e oporon.o A H L B D1 G 9 C F. & Fdof DT
enoirfon) Sods mrﬁaas 03) O DACE"H0 T°ODOC..

I

I

Sub questions

Question Number : 56 Question Id : 9909114869 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Code for CODE 1s
CODE £&E&?

Options:
| KGLN

. KGLM

-



; KGLO

4 KGLP

Question Number : 57 Question Id : 9909114870 Question Type
Single Line Question Option : No Option Orientation : Vertical

Code for POEM

POEM & §&7
Options:

, HGME

HGMF

-2

HGMJ

Lad

HGMK

Question Number : 58 Question Id : 9909114871 Question Type
Single Line Question Option : No Option Orientation : Vertical

Code for LOAD

LOAD & &2
Options:
y DGIM

)
&
i

Question Number : 59 Question Id : 9909114872 Question Type
Single Line Question Option : No Option Orientation : Vertical

Which string of letters 1s coded as LION?

LIONT '€ B30 #8070 S 267

Options:

| DAGE

: MCQ Option Shuffling : No Display Question Number : Yes

: MCQ Option Shuffling: No Display Question Number : Yes

: MCQ Option Shuffling: No Display Question Number : Yes



' DAGJ

L-2

; DAGK

» DAGF

Question Number : 60 Question Id : 9909114873 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which string of letters 1s coded as BAKE?

BAKE r §'€ Soifeicsd @500 S 6?7
Options:
;. JICN

JICM
JICO

JICL

Question Number : 61 Question Id : 9909114874 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Coding and Decoding Problems

Eéoh. A8 ok pRgen
If DESIRE is coded as GTKUGF then the code word for GALORE 1s

DESIRE &) GTKUGF r §& 33 ey GALORE 3 §&
Options:
| GTQMCI

GTQNC]J

L-2

 GTQNCI

Lad

GTQNCK

Question Number : 62 Question Id : 9909114875 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Coding and Decoding Problems
Eéof, A5 doh pRge

If GOEL 1s coded as HOEM. then CORE i1s coded as

GOEL 0 HOEM  §'€ 33, 9 CORE £ §&
Options:
| DESO

DOSE
EDOS

4. SODE

Question Number : 63 Question Id : 9909114876 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Coding and Decoding Problems
£éof, A5 ok DpdRgen

If POND 1s coded as 16151404 then LAKE 1s coded as

POND 2016151404 = '€ 39, e&:?’.;g;}cfj LARH&EER
Options:
; 12011106

12011104

L2

12011105

L

, 12011106

Question Number : 64 Question Id : 9909114877 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Coding and Decoding Problems
Ecof, A8cofh vavR5eD

In a certain code language if WPSLPIMFHA i1s coded as SOLID then in that language
ATEXXQIBVO 1s coded as

w58 §E erney” WPSLPIMFHA &0 SOLIDmr §& &8 es & eres® ATEXXQIBVOLD
§E&?

Options:


https://www.aplustopper.com/previous-year-question-papers/

| WATER

EAGER

WIPER

L

4 WIDER

Question Number : 65 Question Id : 9909114878 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Coding and Decoding Problems
Eéof, A5 doh dRgen

If in a code BLINK 1s coded as 23952 then in that code CREAK is coded as

w5 E EE ernedBLINK 2023932 86 30 3 £€ eried"CREAK % E€Der orard?
Options:

| 39512

38513

L2

Question Number : 66 Question Id : 9909114879 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Date, Time & Arrangement Problems

84, davabo, ewsse Ddidgen

The day on 29 August 2008 is?

29¢3019) 2008 T°CoeS” &biar 90106 ?
Options:

| Monday JFavarco

. Wednesday endarto

; Friday 3uEarco



4 Sunday es&a~0o0

Question Number : 67 Question Id : 9909114880 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Date, Time & Arrangement Problems
84, divabo, wsse Ddiwdgen

If a clock takes 22 seconds to strike 12 how much time will it take to strike 67

12%“%1{:"&% 28 fc.oirdo 22 DEoED 908106 6 gtﬂ.}}f:“ﬂ)é D0 DDO0 3rEI0ED0E 7

Options:
1 11 sec

10sec
3 Osec

12 sec

Question Number : 68 Question Id : 9909114881 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Date, Time & Arrangement Problems
84, davabo, 85w DD

The time after 5 p.m. when the two hands in a clock makes an angle of 60° between them
for first time 1s

5 p.m SOT° (OG0 Tot aenen auey 60° S'tio 0GB eahy DavaDo
Options:
545~
2. b pm.
1
5. lﬁE p.m.

4
5 lﬁﬁ p.m.

-3
5. 17 S pm.

Question Number : 69 Question Id : 9909114882 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Date, Time & Arrangement Problems
84, davabo, w8se Didgen

P 1s mother of V. V 1s sister of B. A 1s son of B. D 1s brother of A. S 1s mother of D. G 15
grand daughter of P. T has only two children V and B. Then which one of the following is
true?

V 03088 P, B i), Fed V , B ding) Sirmo A, A aing), F'edocd D. D aing),
29 S. P 03ng), 00007en G . T £ V anBain B ev 2g3 oen eond & 306 omde” 36

~eso?
Options:
G 1s daughter of B

B l:ﬁl)é?j Sraody G

G 1s daughter of V

Vv EﬁDE‘% Srand G

]

D is the son of T's son

T cﬁn% St r::ﬁ_ugzy a7y D

There are 5 females and 3 males in that family

es £rxenoeoe” 5 M TPy , DD AT PHT™) D

Question Number : 70 Question Id : 9909114883 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Date, Time & Arrangement Problems
84, davabo, 85w DD

A meeting 1s scheduled at 11.00 a.m. for which a person P who 15 away 100kms from the
venue has to attend. If P starts at 9.45 a.m. in a car which moves with a speed of 60 kmph.
then P 1s late to the meeting by how may minutes.

100 8,20 Gr60eS” &) Zrodo ol 8 H§ P11.00 am. £ JGonodeds Darasd3
el seordy od. 9.45 am. P 5°6e5° 60 kmph Drio & 2200enB30B ey P )

DDEFED OO DATFDT"IS M 9T

Options:



k-2
L |

Question Number : 71 Question Id : 9909114884 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Date, Time & Arrangement Problems
84, davabo, wsse DdDgen

Anil left home on his cycle to his school t minutes later than the normal time with 4/3 of
his usual speed and arrived at school t munutes early. Next day he left home t minutes
earlier than the previous day and travelled with 8/11 of his usual speed. Then he arrived
his school

S QoBod WS 3 Arauren ddabo Sof t DaDaren eSRDJOT LI0DENSH
Arauren Dioed” 4/3 Dol paireiod) AN t AMEFLD AVORANT IDET) .
SMard O Do) Sod avocolzry o t Divafed ADoCHTTS L0DeNAd eI

e wioes” 8/11 Driod HOIrEo@ . B9 AR 7.6 & S0LD oo

Options:

Exactly in time BT DaLOIDS
1

t minutes late t Ddaren E:FEJFD?SDTT“

-2

t/10 minutes earlier t/10 Darew SVoGOT

3t minutes late 3t DAoaren Hﬁ)ﬁgo e

Question Number : 72 Question Id : 9909114885 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Date, Time & Arrangement Problems
84, davabo, w8se Didgen

A, B. C.D. E. F. G. H are eight friends sitting around a circular table facing the center as
follows

H 1s on the immediate left of A but 1s not a neighbor of D or E
F 1s on the immediate right of B and G 1s neighbor of E
C1s in between E and F

faa b —

Which of the following is true?
820065 h&ﬂﬁmm A.B. C.D.E. F. G. Hen tbogt) e AV SorDSd esdaaorT &

308 DGOTP EP00N ) &%) B

4. A DD IEDHH, D £ 350 E £ 579 H Fobharc 526
5. B £ 0000 A0 F svdain E £ Taar G
6. E Fo me::5 B Qja:lc'.}

£ 300 7635 2O Dao?
Options:

E 1s in between F and B

E.B 5:13{35 E ea‘*‘lm

F 1s neighbor of G

G o8, Srdorarco F

G 1s m between H and E

H E 5:13:;_&13 G EQ“:lm

H1s in between A and D

ADe m{:ﬁ;;] H EG“JGJ

Question Number : 73 Question Id : 9909114886 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Date, Time & Arrangement Problems
84, davabo, w8se Didgen

&X&=5x—T+ysz+= 2= &(+7+15)& =7
Z

Options:
176

L2
[
|

(]

Question Number : 74 Question Id : 9909114887 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Date, Time & Arrangement Problems
84, divabo, wsse Ddiwdgen

If x stands for addition . < for subtraction. + for division. > for multiplication.- for equal
to. = for greater than and = for less than, then which one of the following is true

RogOT) X 7, DEDEOTIY < e, rarord) + @, Mdo >E s, ‘is equal to’
R0~ FR Gof) D A+ Fo, ‘BoSSH = FIP AP & 06 TOS° DO
~zo?

Options:

2 1222=10<4x8

Question Number : 75 Question Id : 9909114888 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Date, Time & Arrangement Problems
84, davabo, w8se Didgen

If + means division, - means addition. x means subtraction. / means multiplication then
the value of the expression [{(17x12)- (4/2) }+ (23—-3)]/61¢

+ e90E] TP Caldn), - €906) oSN |, X e90E) agﬁéuam:),f e90€] (D0 €97 eaplned

e [{(17 x12)- (4/2) } + (23 — 3) 1/6 € 2D Densd Jots?

Options:
l. 1
)
j. e
3.3
4
4
Mathematical Ability
Display Number Panel: Yes
Group All Questions: No

Question Number : 76 Question Id : 9909114889 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
oSt &mgﬁﬁ

TG o — B b s b
x y

S B i i i:
9 27 81 eaowed, Zre) AV - - :

Options:
3

fz; W

L2
4 [ w

b
= |~



i
=

Question Number : 77 Question Id : 9909114890 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
ewodticdeh %"mg&ﬁ

If 3™ divides (72)°.(24)7. (48)*1. then the largest integral value of n is

(72)%.(24)7.(48)112 3" &AY, 3Dy 1 C3IVE), (A0Y IPToEDeD

Options:
| 36

5 24

48

78

Question Number : 78 Question Id : 9909114891 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
evosicded aw.mg&a

Ifp:q=7:9.then(4p—2q):(3p +q) =

P:q = 7:9 e9008, Q)N (4p—2q):(3p+q) =

Options:

Question Number : 79 Question Id : 9909114892 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability
oSt &mgﬁﬁ

If an amount of Rs 7380 1s divided among 3 persons A, B. C in the ratio 5:6:7. then the
difference of the amounts received by A and C, in rupees is

ar. 7380 D aofpd Hgen A, B. C © ogyf 5:6:7 mﬁ’qnj{:gef’* Dow@d , A daiw Cev
Tod&H AR G Ecso, Gr. e’
Options:

| 1640

- 2460

L-2

8§20

4 410

Question Number : 80 Question Id : 9909114893 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
wolicdeh %‘aﬁogﬁﬁ

Ifx=4— 37 thenx® —12x% 4+ 48x — 21 =

x =4— V7 eond, eipyen x® —12x% +48x — 21 =
Options:

;. 36

50

-2

;3 64

3,

Question Number : 81 Question Id : 9909114894 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical


https://www.aplustopper.com/previous-year-question-papers/

Arithmetical Ability
oSt &mgﬁﬁ

- 17+12V2

1
= =, then x + = =7
17-12yZ x

1741242 1
= e90DEd, e~ X +— =7
171242 & 3

Options:

L 577

1154

[

20442

1682

Question Number : 82 Question Id : 9909114895 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
wo&icdeh &mgﬁﬁ

Sum of all the two-digit numbers that are divisible by 4 15

443 erfoDded B3 Do) & dGaW

Options:
, 1188

L-2

1096
1200

4 1048

Question Number : 83 Question Id : 9909114896 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
wolicdeh %‘aﬁogﬁﬁ

The number of divisors excluding 1 and itself of the number 8625 1s

1l an8oin eadd saiad® 8625 Faoa:rﬁ cﬁnﬁb EA RN N L "n:roa::5



Options:

;16

14

[E%]

Question Number : 84 Question Id : 9909114897 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eosrrics avmgsa

The smallest positive integer, when increased by 9. 1s exactly divisible by 3. 4. 10, 15, 24 1s

943 DoIeIENNED, 3. 4. 10. 15, 240 Qf&a@t}ﬂ“ arhoDec S8 GRRTFTRoSo

Options:
| 129

n 120

Question Number : 85 Question Id : 9909114898 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eosticdeh &mgﬁﬁ

If the positive integer 1541, 2444, 2659 leave the same remainder when divided by a
positive mnteger m. then the largest value of m 15

GaRPTrosten 1541, 2444, 265%en 28 GJQPTr050 Mo wﬁmﬁ)&‘nﬁ.ﬁ;}}bm 238 N0
DR, VN m aing), (10 Desd

Options:

27

o 3



Question Number : 86 Question Id : 9909114899 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
woiicdeh B‘a&:gﬁﬁ

3 4 5 6] »p e
If 2;—3;—4;4—5;‘ =E‘J.'11121‘E and if (p, g) =1. then p+g=
(@, q) =1 e2005%) m|23—3f—45+ 55| = 2 esamd, espync pig=
» 4 ) 4 5 5 7 q ' 2 oal e
Options:

341

431

L2

521

Question Number : 87 Question Id : 9909114900 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
wo&icdeh &mgﬁﬁ

3 o . i . g 1
Let r be a rational number such that. if 2 1s added to the denominator its value 1s equal to 5
1+r

i ; : 1
and 1if 5 1s subtracted from the numerator then its value 1s equal to 3 then e
=

T TOADSH 2 SDDIDYD Dewd I eebEeOr, oD OSaLM0d

1+r

1-r e

BHDHHDYE Dend % eoaHINTPRD 28 eSEoEIaD 202 7 EoSAE AR, RN

Options:
37
11

17
32

k-2

15



13
4 A%

Question Number : 88 Question Id : 9909114901 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
oSt anmgﬁﬁ

1 1 1
The ascending order of the numbers 3z, 54, 75 1s

1 1 1

3, 53, 75 Do e38ireasano
Options:

1 1 1

32,54, 75

1 1 1
bs,75, 32

L2

1 1 1

32, 7s ha

1 1 1

54,32, 75

Question Number : 89 Question Id : 9909114902 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
ewodticdeh &m&sﬁ

If x > x? > x3. then a possible value of x among the following is

X > x? > x? eond, & 208 o0 x O30E), 28 DETH Dewad

Options:
7
o
_1
T o
3
3 4



Question Number : 90 Question Id : 9909114903 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
oSt aw.mgsa

From the salary of a person 10% 1s paid for house rent. 15% of the rest of the amount was
spent on provisions and 10% of the remaining amount was spent for children’s education.
After this expenditure. if he 1s left with Rs. 24786/-, then his salary in rupees 1s

w8 O3 20 od 10% Qo gD, HABY Tawes® 15% Had Fards, Hd
oS° 10% DYe SWDOD DONSIED. & DOV T oD 5§ ar. 24786/-
DHVS, 961 Bedo ar e

Options:
;. 18.000

5 24.000

32.000

, 36.000

Question Number : 91 Question Id : 9909114904 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
ewogricded B'mgaﬁ

If the length of a rectangle 1s mcreased by 15% and its breadth is decreased by 20%. then it

arca

28 &g SE0000 T 15% D60, o7 Deeny 20% 803, ord dE), PFOIO

Options:

decreases by 8%

| 8% agumo&

rd

decreases by 6%

5% e:ﬁ:‘“jbmo&:



increases by 8%

8% adoreadod
mcreases by 6%
6% Ddoresiod

Question Number : 92 Question Id : 9909114905 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
ewodticdeh &mg&ﬁ

If cost price of 10 pens is equal to the selling price of 8 pens. then the trader gets
10 D0y o £y 08, 8 DAy o 90352 0@E DAFIB, €5 HGL Todb

Options:
15% profit

15% erdo

20% profat

5 20% erdio

30% profit

30% errdlo

Question Number : 93 Question Id : 9909114906 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability
oSt aw.mgsa

A trader marks an article 25% above its cost price. He sells it by giving a discount of 15%.
If the selling price of this article 1s Rs. 9350, then 1its cost price, in rupees. 1s

& DHELD w8 DY Fdy D0 Sot] 25% dSor o) 5SS (6D Hg&n&m. oD
e9edcsy 15% dil"zjcnﬁ @EDEB DL EIPED). S8 DO 9L ENEGC dr.9350 e9000E3, °9) §°§}‘l

b (dr.ees’)

Options:

;7800

5 8800

5 9600

4 9200

Question Number : 94 Question Id : 9909114907 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
wolricdh &mg&ﬁ

A person A started a business with a capital of Rs. 3.5 Lakhs and after few months B joined
him with a capital of 3 Lakhs. At the end of the year A and B shared the profit in the ratio
2:1. Then the number of months B’s capital 1s used mn the business 1s

A od o8, 0. 3.5 vsof w8 TPt AVGED DFE. EI) dow BT 3 vso
Dtvedd B eadd SO, DodsyTrodess” A 0Boin Ben erardy 2:1 Diydes’

DocLET™) M. R & a‘g&)“cioe‘iﬁ B cding), DEPOICD 7D DR Doy

Options:
;8

Question Number : 95 Question Id : 9909114908 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability
oSt awmgsa

Two persons P and Q entered into a partnership with capitals of Rs. 4 lakhs and Rs 6 lakhs
respectively. After 4 months they invested another 40,000 each. Then the difference of their
shares . in Rupees. in the annual profit of Rs 1,.12.180 15

QOM DfEen P anboin O SR 0. 4 L adain dr. 6use Eag\ane.)ci}ﬂéf 28
ﬂ“&.ﬂ“doeﬁ'ﬁ a}“ﬁﬁvﬁ‘m}m ADVGCLVVEFAD. 4 DO BOTE TH wE) 5D a0l

6P.40.000 DEPOAT DEFE. HODSYTOBAVDH DD oo 6r. 112180 &° 6
arereed’ oo

Options:
| 18.500

5 20:250

3 21.300

22,500

Question Number : 96 Question Id : 9909114909 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eosrrics &mg&a

Two taps A and B can fill an empty tank in 8 hours and 12 hours respectively. But due to
leak at the bottom the two taps together took 1 hour 12 min more time to fill the tank. Then
the time. 1n hours, i which the leak alone can empty a full tank of water 1s

A S0B8a1 B 90 Do Swranen 28 are e:?egm S 8§ aobain 12 dotoeres”
Doa)TP0Y). 9NN, T 9D C—,.ﬁl 28 CoGan) (55) seotorr & Goch Sweone es
ﬁtg?iu DodcEDS 1 oty 12 Dadwarren .::)g.)bnt) mmcﬁri‘};" £3n05 0eIF000. IRNED €5

Gogand 25,65 DeheS* Qo Dodd &3 FGa a9 SanEIS HE Davabo otrwes’

Options:

12

18
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Question Number : 97 Question Id : 9909114910 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
oSt aw.mgsa

Tap A can fill a tank m 6 hours and another tap B can empty that full tank of water in 4
hours. If tap A 15 opened at 6 AM and after 3 hours tap B 1s opened, then the time by which
the tank will be empty 1s

A oD Fyron w8 FHD 6 fotwe” Doapddod, 8 Ewron B A&E Docorr €y g
FG0 4 (ot 379 BR0d. Fwrow AD 6 AM § B6D), €& Smars 3 fotwd Fvron
B 308, &8 F'g Qo ard SPRd wavobo

Options:

| 1PM

o 2P

3PM

Ll

4PM

Question Number : 98 Question Id : 9909114911 Question Type: MCQ Option Shuffling : No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
ewogicded B‘a&:gad

If a person goes to his office at % of his usual speed. he reaches the office late by 15
minutes. If he goes at usual rate. then the tune taken to reach his office, in hours. 1s

28 DI B DS B85 ot Drios” % Do Driod DF S 15 Dawaren e
BOL BWEFD. VB Foron Do DY, B BOWLH 30I3 DY Davowo

(Hotaeres®)

Options:

1 34

Yes



Question Number : 99 Question Id : 9909114912 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
o keI &mg&a

If a train crosses a pole in 30 seconds and a platform of length 100 m in 50 seconds, then
the length of the train, in meters, 1s

28 e 00l 28 RoBaN 30 DEoES W Wb 100 &g FEY (0 28 FEryGod
50 DEoES 0 oredS, &3 Jen od TEw) (Doerges”)

Options:
1 50

100

L2

150

175

Question Number : 100 Question Id : 9909114913 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eosticdeh &mgﬁ&

Mr. A can do a piece of work in 24 days. After he had worked for 4 days. B jomned him and
together they completed the remaining work in 8 days. Then the number of days in which B
alone can complete the same work 1s

A 28 DD 24 Bevers’ Q0 SJrc). 9 4 Beaven D 30 atared B eseddd £8I¢H
B TBGM SBD & ABI DAY § Fwed” Lrd SFW. B 29I & DID
rEBaEEIS DEY Bave Doay

Options:

16

20

"
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Question Number : 101 Question Id : 9909114914 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
ewogicded B‘a&:gaﬂ

A and B can complete a piece of work in 24 days while B and C can complete the same
work m 30 days. If A works twice as much as C. then the number of days required for B
alone to complete the work 1s

A 200ain Ben 2,8 02 24 Bwes® 20 S, ©ond B sudain Cen od HD 30

Berers” Qg SFd. C S0 A 580w HISaDADASB, B 2EE &8 DID s SoncdS

2e] Feve SLE
ED

Options:
40

35

k-2

Question Number : 102 Question Id : 9909114915 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
oSt awmgsa

: - [ ; 5
The area of a trapezium 1s 5{_{12 — b?) sq. units. where a and b are lengths of the parallel

sides. Then. the distance between its parallel sides 15

a 200050 b en D00 A2ae SrEanen E_Erm}K)TQ_'):J{fJ 208 R0 ALE VO VAN N EY
alog), PFreOso %{_ a? — b?) ©.007DED. RNYE TP VA0SO FRAN D] GG
Options:

| a? + b?

7 2a



5 a+ b

4 a—2>b

Question Number : 103 Question Id : 9909114916 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eosticdeh &mgﬁﬁ

The length of a rectangular field 1s three times its width. Inside the field there is a square
shaped pond of side 12 m long. If the area of the pond is 11—2 of the area of the field. then the
length of the field. in meters. 1s

28 &gﬁ@aﬁ@vgd@ TFeo G308, TEY, T DELNDL PEHIBLD. &8 Tovo &§°DHY
arrioed” 12 and TE Mo w8 0TS0 Fom €od. & So parogo, & Jeo
PTog0es 1—12;.3 Hoe &of, &5 Foo cing) TE, Meges*

Options:
pF.
L 24

48

96

Question Number : 104 Question Id : 9909114917 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eosricies &mg&ﬁ

If two smaller sides of a rectangular sheet of dimensions 20m X 12m are joined to form a
evlinder of maximum volume. Then the volume of that cylinder (in cubic meters) is

2080 X 1280 HB8aee0 €00 2.8 &gﬂ@ad@n?ﬁ@ s dIg), D) Soaanod B

A0 DOITEI0 (10 25 YID0 Eﬂofoge.)g._jn (o). R B DO GIVE) JDOATE0
(205 Deages”)

Options:
400

1 m
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Question Number : 105 Question Id : 9909114918 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
osicde &mg&ﬂ

A metallic solid sphere of radius 5 em 15 melt and moulded into a long wire of radius 6 mm

then the length of the wire, in meters. 15

5 D0 J§rgo (ADAD w8 8 SRy Hwdy S8fcd, 6 . Trgo (BAD 8
TEDDd SO TSI M. QD & & T (Dege”)

Options:
25
1 27
S0
1 27
100
3 27
125
CAl

Question Number : 106 Question Id : 9909114919 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eosticdeh &mgﬁﬁ

. 5 : L ok :
The area of a parallelogram 1s 243 sq.cm. If 1ts altitude 1s = of corresponding base. then the

length of its base, in centimetres. 1s
28 VAT0BC SBOMRO IV DI 243 ©9.200.20. G e (&ya) oD escro0es”
é;_u Do) &0, T errdo @), Te) 2o.H o

Options:
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4. 36

Question Number : 107 Question Id : 9909114920 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eosrrics avmgsa

If two equal cubes of side 7m are joined together to form a cuboid. Then the total surface
area of that cuboid. in square meters. 1s

7 néxd Hoadneor (BAD Soch DAY EDADNOD wE AN DI BHCDH
B0 T0. 9 €3 é-g;nmo g, o &DHBY PFTRNo &.0e0e5°
Options:

;49

245

-2

3 490

, 686

Question Number : 108 Question Id : 9909114921 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eosrrics avmgsa

If a cone of maximum volume 1s cut from a solid hemisphere of radius 8m. then the volume
of that cone. m cubic meters, 1s

8 iy argFrgo o w8 A8 egiivo ol (87 WIDBATBOADAD 28 FoaP
ERIE € F0a0D DDHBATEI0 20D Derge”

Options:
128

2
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Question Number : 109 Question Id : 9909114922 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eosricieh %’omg&eﬁ

If 1285 = r (mod 29),0 = r < 28. then=

1285 = r (mod 29),0 = r = 28 e9500@, e 1=
Options:
| (28

17

-2

Question Number : 110 Question Id : 9909114923 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eosricieh %’omg&ﬁ

Define a = b(mod m)if m divides (a-b). Then which one is true among the following?

(a-b) D m AR, a = b(mod m) ™ DO 0 9NN & Sod a5 Do Qe ?

Options:
1 100 = 1(mod 7)

100 = 2(mod 8)

; 100 = 3(mod 9)



100 = 4(mod12)
4

Question Number : 111 Question Id : 9909114924 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DAoL, EBADH vagﬁa

The contra positive of p — (g = 1) 1s
p — (g — 1) 38, paH8aaw

Options:

| {'(]f % -x-T:} —p
.. ko) op

3 (g=r)=>p

, (vqAT) = ~p

Question Number : 112 Question Id : 9909114925 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DAL, 2B a»mgﬁa

The inverse of p — g 1s
p = q A8 DS a0
Options:
| P

p—=~q

L2

. SR

o>

Question Number : 113 Question Id : 9909114926 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

DAL, 2D avmgﬁa

In a certain city 90% of the population own a motor cycle, 15% own a car and everybody
owns a car or a motor cycle or both. What percent of the population of that city own a car
but not a motor cycle?

w8 DD DU aTrere” 90% od ws ared R3S W, 15% od ws WM
500 eotrdd, D aﬁbﬁj 28 5P o w8 art)d 23 A Jo Tocotdd 586
GO, €3 DL a7ee” Doed T aDod DPEFS pAS D LA oo, s S

e 596 Gotra?

Options:

| 8%

L2

Question Number : 114 Question Id : 9909114927 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DAoL, 2ok avmgﬁa

If QF denotes the set of positive rational numbers. then the relation

R= [(1‘,]-{} S e e i} is

X

0+ 36 63 esodavion PDSD APDY, BRoy® R = [(1y) € 0* x @*:y =]

F

8900 SI0EI0CI0

Options:
symmetric and reflexive

Qo B0 DTPHGH0
L

not transitive but reflexive

208200 5°CD, 572 DUHGH0

"



not reflexive but symmetric

DTDGH0 T, T2 FRDo

transitrive but not reflexive

20800, 577 DOCHGH0 S

Question Number : 115 Question 1d : 9909114928 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DD, 2PBaD a»mgﬁa

The number of relations from the set {2, 3, 4} to the set {5, 6} 1s

{2,3, 4} 2d0@ od {5, 6} DAS (1B DorolPe) Vo

Options:
; 64

62

(]

3 46

4, 63

Question Number : 116 Question Id : 9909114929 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Dabab, rgdodan g .

The equation of the straight line passing through the point (2, 3) and perpendicular to the
linex+2y—3=0i1s

(2,3) Doty Mo e, x + 2y — 3 = 0 20V B8 2oLl Gol DOVOD DAECER0
Options:

 2x—y—1=0

. X—2y+4=10

3 2x+y—7=40



4 2x—2y+2=10

Question Number : 117 Question Id : 9909114930 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DA oD, 2rgodab Ebmgﬁa

If the straight lines 5x + 3y +7 =0 and ax — 7y + 8 = 0 are perpendicular, then the
value of a 1s

5x +3y +7 =0 2080w ax — 7y + 8 = 0 2OV Qo0 &otd, BN a Ms)

B
Options:
1.

[

Question Number : 118 Question Id : 9909114931 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DAoL, 2ok a»mgﬁa

l-l—sin&+ cos @
cos g 1+sing

Options:
; 2siné

2cosp

2secHd
3.



Question Number : 119 Question Id : 9909114932 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DAoL, 2rgBaD avmgﬁa

tan(—855%) =

Options:
1

l.

g 2k
%

3 &

4 2

Question Number : 120 Question Id : 9909114933 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DAoL, 2rgBaD avmgﬁa

Iftan@ = S. then tan 26 + sec 26 =

tand = E £300083, 9N ¢D tan 26 + sec 26 =

Options:
&

1 1&
i

2

3 0O
2

4. %

Question Number : 121 Question Id : 9909114934 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Algebraic and Geometrical Ability

DAL, 2D avmgﬁa

If the angles of elevation of the top of a tower from the top and front of a pole of height
15m are 30° and 60° respectively, then the height of the tower (in meters) 1s

15 dneg o0 w8 Yoddwn oIng), FX 8ol Jroane Mol wf Fdo o30E),
@gﬁgmmm SR 30° 2Boin 60° wond, BN & Fdo g,
(Doexses®)

Options:
1. 23

po
2

2

22

7
2

Question Number : 122 Question Id : 9909114935 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DA oD, 2rgodab b»mgﬁa

Which one of the following is a factor of x® + 6x% + 11x + 67?

& 308 o2 DO, xP+ 63 +11x + 6 GB0E), 28 STOEa0?
Options:
1L Xx—1

r—2

[

Question Number : 123 Question Id : 9909114936 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

DAL, 2D avmgﬁa

The square root of 9x% + 4y% + z2 + 12xv — 4yz — 6xZ is

9x% + 4y% 4+ 22 + 12xy — 4yz — 6xZ B0E), DTN
Options:

3% — 2y —=

3x — 2y +Z

k-2

X+ 2y +2

X Tdy—E

B

Question Number : 124 Question Id : 9909114937 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DA oD, 2rgodab b»mgﬁa

A polynomial ¢(x) leaves remainders -1 and 3 when divided by x-3 and x+1 respectively.
Then the remainder. when that polynomial ¢(x) is divided by x> — 2x — 3 is

w8 0T0DA ¢(x)D x-3 oL x+] O Ao HERM -1 BT 3 FHD0
QFrow. & NG G(x) D x¥? — 21 — 3 &S PHODI DSy 3o

Options:
L x+1

I—x

L2

24+x

Question Number : 125 Question 1d : 9909114938 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Question Number : 126 Question Id : 9909114939 Question Type: MCQ Option Shuffling: No Display Question Number

Algebraic and Geometrical Ability

DAL, 2D avmgﬁa

If ax* + bx® + 2x? + 4 is exactly divisible by x% — x — 2. then (a, b)=

ar* +hx? ¥ 25+ 4 e ¥t —x—2 DO eHODLICBI0E, D (a, b)=

Options:

a3

Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DAL, 2D avmgﬁa

P and Q have a certamn number of Mangos. P says to Q: “If you give me 30 of your
mangoes. I will have twice as many as left with you™. Then Q replies as “If you give me

10 mangoes. I will have thrice as many as left with yvou”. Then how many mangoes P had
at the beginning?

P dudoin Qe a8 D8H ‘&)0;}5&3‘5 Arade oG 580 &) . Q& P QEF T (:
ey o0 &y omInd 2060eS° 30 TP @Y, bmqﬁ 20HDD Do oy TAGO
€0EI0D". Y Q AP T D: DY TH 10 rME Do I, bmgcs A8
DD QP T TARC GotTroN”. BN P Og oo JI) arddd Do

%a“imj?

Options:

32

1.

42

L2

34
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Question Number : 127 Question 1d : 9909114940 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DAoL, 2rgBaD Eh.mgﬁa

A fraction becomes 4/5 1f 1 1s added to both numerator and denomuinator. However if 5 1s
subtracted from both numerator and denominator the fraction becomes Y. then the
fraction 1s

D00 B0 Fo0ED Tocotdd 1D DI s DY 4/5 9Pe0od. ©od
DD0N DB HFCaVEn Tocotd ok 5 BRDNIDNED, € DY 2 9HB0d.
Iy €8 éi);ﬁ;,‘an

Options:
3

i B

14

Question Number : 128 Question Id : 9909114941 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
DAoD, oAk Jadd &

a5
The sum of the first 25 terms in the progression 2,%, ;SN L
2.2,3, e D 356°D 2GS 25 DEAVO T DS
Options:
S
] 2

200

=]
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399
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Question Number : 129 Question Id : 9909114942 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DAoL, 2rgSaD Emmgﬁa

If the sum and product of three consecutive terms of a geometric progression are 13 and
27 respectively. then the middle one of the three terms 1s

208 (DB P S, P DM DEDVL TN, AVBAW ADOC3L VLA HDIT 13

s8I 27 e9018, e SPE) mcanerest G DGo

Options:

1
1.

Question Number : 130 Question Id : 9909114943 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
DAL, 2D bvmgﬁa

= ; . . . . ALE
The 9™ term 1n the binomial expansion of (.T — ;) 15

17
(x = 5) o), BLHE DYORE*D 9 Do

X

Options:
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Question Number : 131 Question 1d : 9909114944 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DAoL, 2PBaD ao.mgﬁa
2}25

If the expansion of (x — 3x is a polynomial of n™ degree in x. then n=

(x —3x2%)25 aI0E), DYOE, x5 28 1 OIS LTVDEO ONB, WDy n=
Options:

75
Ly

25

L2

Question Number : 132 Question Id : 9909114945 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DA0H, gAAD Ebmgﬁa

" — ; 1 \ :
ga=[ "].B=|; and (A + B)? = A2 + B%. then (x,y) =
2 A ¢ ¥ =k J
A=[l _l]B=[x l]mﬁﬁil}{ﬂ+3}2=ﬂz+ﬁ’zwwé 9NN (%, V) =
| - O (XY,

Options:
| 22

(9

L2

3 (=1.4)

(1,—-4)



Question Number : 133 Question 1d : 9909114946 Question Type: MCQ Option Shuffling
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DD, 2B Jag &

a5

If [? _ll] [;] =2 [g], then x* + y?

[2 _1] [}L] = [g] 008, RN ¥ + y?

1 14

Options:

1.

11

: No Display Question Number : Yes

Question Number : 134 Question Id : 9909114947 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DA0D, g AAD Jrand &

a5

VI +xF =41 %2

lim =5
x—0 .'L'z

Options:

1.

1

| =

ra | =

Question Number : 135 Question Id : 9909114948 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

DAL, 2D avmgﬁa

d (t " (1 + tan 1))
—(tan™' |——| | =
dx 1 —tanx/,

Options:

4
1.

| B

Question Number : 136 Question Id : 9909114949 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DD, 2PBaD ao.mgﬁa

The ratio of the sides of a triangle whose angles are in the ratio 1: 2: 3 is

1:2:3 Dy@65° Emanend BAD 8 Shao Mg, haane Dd

Options:
1: x-"E: 2

1:2:3

[

3 2:3:4

Question Number : 137 Question 1d : 9909114950 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

DAL, 2D avmgﬁa

The perimeter (in cms) of a Rhombus whose diagonals are 9 cm and 12 em 1s

0 2o.00 awdoiw 12 Do.ao DEGgONT (BAD 28 DB AILE), kr Fod
(20.60 ee5°)

Options:

i 40

Question Number : 138 Question Id : 9909114951 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DAoL, 2rgSaD Ebamgﬁa

A tangent 1s drawn to a circle from a pomnt 13 cm away from its centre. If the length of
that tangent 1s 12 em. then the radius (in ems) of the cirele is

& Sogo Aol 13 Do.ad Arceds D) w8 Do) ol 28 HPAVID 8
D00 fiord. & 0y0y8o Ted 120040 ©wond, & Hde L) dFIgaw
(o.20 ees°)

Options:
1. 4

Question Number : 139 Question Id : 9909114952 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

DAL, 2D bvmgﬁa

The area (in sq. units) of the triangle formed by the points (0.0). (2. -3) and (4. 5) 1s

(0.0). (2. -3) anBain (4. 5) Dol JoyE SEhapT oo (. o)
Options:

7
g =

11

B ]

3 12

-

Question Number : 140 Question Id : 9909114953 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DAoL, 2rgBaD Eh.mgﬁa

The ratio 1n which the X-axis divides the line segment joming the points (2, 3) and (3, -5)
15

(2. 3) a0boiw (3. -5) Docenoan S8 Sarpocann~ X-e9ga0 oo DB

Options:
1. -2:3

Question Number : 141 Question 1d : 9909114954 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Statistical Ability

5’0:;.155 avmgﬁa

If the mean of the following distribution is 50. then the ratio of the missing frequencies f1
and £ 15

& 306 DFRIID CIVE) WEFEVAD 50 00, e5°200R &Pz Pgaen fi Sdoiw

B a0G) Dy

ol 0-20 20-40 40-60 60-80 80-100 Total
f 17 fi 32 t 19 120
Options:
1. G:5
o e
3 .":':fi:I
4 8:5

Question Number : 142 Question Id : 9909114955 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability

5‘0:;&55 avmgaa

The median of the following distribution 1s

& So0b ndado OS] OGS0

Age (1n Years)

aojjma(“maa@aﬁaﬂﬂtﬁ'ﬁ]l 4 (15 |36 | 3T | 48 | 19 | 20 | 21
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3)@5 %‘uu ‘3)05]}5

[ ]

10| 18 | 20 | 10: | 7 6 3

Options:
1. 16

s

3 18



4 175

Question Number : 143 Question Id : 9909114956 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability

5’0.‘.’;}55 avmgﬁa

The mode of the following distribution of marks obtained by a group of students is
approximately

w8 DTHEL DOVT0I0 @m{:}%’a‘_}l SU°E), 0 0I0E) & Sod) DeTrEans) RaTPOYESL

{Eaeg.“mnf@n“ )

Marks Scored

odrB00® arcyen | 15-25 | 25-35 | 35-45 | 45-55 | 55:65 | 65-75

No. of Students
Do Doy 8 20 | 28 | 30 | 10 4

Options:
| 44.7

459

[

; 404

46.7

Question Number : 144 Question 1d : 9909114957 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability

.a»az,.:.ﬁs avmgﬁa

The mean of the numbers a. b, 8. 5. 10 15 6 and their variance 1s 6.80. Then the difference
betweena and b 1s

a.b. 8. 5 10 e Un)DE_I')_SEJ DGR 6 «0B0IL T7E) Dryed 6.80. 'E_*}E.}_);j{:.} a «08aiv bey

m-::@ 20
Options:
1

-2
L]



Question Number : 145 Question 1d : 9909114958 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability

.a»a:,u,ss ava:ugaa

The standard deviation of the distribution (approximately) 1s

& 308 DRI IV, SDVVDID, (Zoaoedorr)

1
66 906550 0-2 2-4 4-6 6-8 8-10
i
"
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Options:
L 2.1
5 2.3
3 2.6
4 2.9

Question Number : 146 Question Id : 9909114959 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability

5’0:;.155 avmgﬁa

The rank correlation coefficient between two characteristics X and Y of a group 1s found
to be 0.9. If the sum of the squares of the differences in their ranks 1s given to be 56. then
the number of individuals in that group is

28 D0 oia) oﬁn% Joc ersEmSaveny X J0foin Yo DaraotiodmsSan 0.9,
o) e QD) BGAVL DAV IV DB 56 ©D ALNDND &

FATRE R AL S VRN S0 DR Doy

Options:



10

L2

15

Question Number : 147 Question Id : 9909114960 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability

a»aq.més &mgﬁa

The probability that a flight arrives on time is 0.7 and the probability that a flight departs
on time 15 0.8. The probability that a flight neither arrives on time nor departs on time 18
0.15. Then the probability that flight arrives on time and departs on time 1s

28 Dardo VBEHD PDATEIS BBy VoD 0.7 MO0 wE DArHo DOEHD
RVOIEDS 0LENE0 Doarded 0.8, 28 Darrde ABEDHA ROITEDS ThRE) dwdaiy
DBEDD DAVOIPIS  OLeNBCHY DVoerdge 0.15. DD Wl Do POED

REDOIEAS By, ABEDM VIS LODEDBET VoL

Options:
| 0.65

0.70

k-2

3 0.75

4 0.85

Question Number : 148 Question 1d : 9909114961 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statistical Ability

5’&4&55 avmgﬁa

Bag Bi1 contains 4 white and 2 black balls. Bag B2 contains 3 white and 4 black balls. A
bag 1s drawn at random and a ball 1s chosen at random from it. Then the probability that
the ball drawn 1s white. 1s

Rod Br ©° 4 @D 08050 2 YD ©0d0en &) on. Do B2 &° 3 30 dudaiw 4
RV LIOBVLD &) 0. OGNS 28 VoD SED, T°A Ao WG5S0 ws
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Options:
2

14
L.

=1 | b

23

23

Question Number : 149 Question Id : 9909114962 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability

a»amas avmgaa

In a construction company the probability that the workers go on strike 15 0.65 and the
probability that a construction job will be completed on time if there 1s no strike 1s 0.80, If
the probability that the construction job is completed on time even if there 1s strike 15
0.32. then the probability that the construction job 1s completed on time 1s

w8 DT oS DATMm DAy DD Doardgd 0.65 da D) FEID w8
20°LE302)) POGIIR WaVAIEAS 1D 5t Doerage 0.80. Do, &aﬁl?’abﬁé w8 070
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RIS YD S0 Doeras

Options:
| 0.208

, 0.488

=



Question Number : 150 Question Id : 9909114963 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability

5’0:;.155 avmgﬁa

A bag contains 4 red and 5 black balls. Another bag contains 3 red and 6 black balls. One
ball 1s drawn from the first bag and two balls are drawn from the second bag at random.
The probability that out of the three balls. two are black and one 1s red 15

28 DVodeS” 4 G 0BAIL 5 HYD Gorbiie) LoD &IT)oN. E VoS 3 6D
S0BAIN 6 VD Gorh LD &T*) 0. DG Do) oG w8 0B, Totd Vo) Aod.
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Options:
2
1 18
15
q 54
77
3 228
25
g, =
Communication Ability
Display Number Panel: Yes
Group All Questions: No

Question Number : 151 Question Id : 9909114964 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

Augment



Options:

Decrease

—_

Increase
5 Pigment

Fragment

Question Number : 152 Question 1d : 9909114965 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

Ardour
Options:

1 Passion

. Hard work

Apathy

Ll

4 Dafficulty

Question Number : 153 Question Id : 9909114966 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

Facile
Options:
1 arduous

effortless

k-2

3 faceless

laborious

o

Question Number : 154 Question Id : 9909114967 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Choose the correct meaning of the word given:

Fallacy
Options:

1 creative thinking

, false reasoning

correct policy

4 exact reasonin g

Question Number : 155 Question Id : 9909114968 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:
Insipid
Options:
witty

{ﬁ 1- r}r

L-2

tasteless

stupid

ke

Question Number : 156 Question Id : 9909114969 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:
Clawrvoyance

Options:

| Voyage

chivalry

]

foretelling



4 diligence

Question Number : 157 Question 1d : 9909114970 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blank choosing the correct word:

A person i1s one who readily believes others.

Options:
| credible

creditable

credulous

skeptical

A

Question Number : 158 Question Id : 9909114971 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blank choosing the correct word:

A person who talks continuously is said to be
Options:

Vicarious

licentious

voracious

loquacious

Question Number : 159 Question 1d : 9909114972 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blank choosing the correct word:
Reproducing word for word 1s known as
Options:

| verbatim

. werbal



7 verbalizing

4 verbose

Question Number : 160 Question Id : 9909114973 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blank choosing the correct word:

The Russian player all the rest.

Options:
) rooted

flouted

]

routed

triumphed

=

Question Number : 161 Question Id : 9909114974 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

Data that provides information about other data 1s called
Options:

| metadata

big data

e-data

(W]

4 primary data

Question Number : 162 Question Id : 9909114975 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:
The refuse created by discarded electronic devices 1s generally called

Options:

L e-rubbish


https://www.aplustopper.com/previous-year-question-papers/

e-litter

L2

e-trash

L

e-waste

i

Question Number : 163 Question 1d : 9909114976 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

To add data at the end of an existing file is to

Options:

| append

expend

compon nd

(W]

depend

Question Number : 164 Question Id ;: 9909114977 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

Capital invested in a new business in which there i1s an element of risk is called
Options:
i enterprise capital

working capital

venture capital

L

equity capital

Question Number : 165 Question Id : 9909114978 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

Identify the device that 1s not considered a computer peripheral:
Options:



keyboard
. monitor
, mo therboard

printer

Question Number : 166 Question Id : 9909114979 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

A modem 1s the short form for
Options:

1 moderator-demonitor

monitor-demonitor

k-2

moderator-demoderator

modulator-demodulator

Question Number : 167 Question Id : 9909114980 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Choose the correct answer:

CONSSIISUS INSAans

Options:

| dispute

enumeration

consecration

agreement

Question Number : 168 Question Id : 9909114981 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Choose the correct answer:

*Start-up’ 1s a word that deseribes a
Options:

business in profits
business i its infancy
busmess i loss

business at its peak

e

Question Number : 169 Question Id : 9909114982 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Choose the correct answer:

Invoice means bill showing goods
Options:

o be purchased m future
consumed in the process of production

; consumed in the process of transport

sold for which amount 1s to be paid

B

Question Number : 170 Question Id : 9909114983 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

A business that has everything needed to start it immediately 1s called

Options:

; anup start

a start-up



a turnkey business
3

, turnover of business

Question Number : 171 Question Id : 9909114984 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:
A: Who did he invite to the party?
B: He nvited all and sundry

B feels that
Options:

| A mvited people all of a sudden

A mvited everyone without any distinction

A mvited all but one

L

A 1s mviting all the time

Question Number : 172 Question Id ;: 9909114985 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

The alarm infra-red rays which are used to detect any mtruder.
Options:

1 detects

~ surrounds

emits

e

rejects

Question Number : 173 Question 1d : 9909114986 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Choose the correct answer:

A: Thank God. You are saved.
B: I don’t know how to thank you.
Had you not warned me. I would have fallen over the precipice.
B expresses
Options:
| his gratitude to ‘A’

his anger against *A°

his mercy for “A’

il

anger for “A for coming near the precipice

B

Question Number : 174 Question Id : 9909114987 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

Identify the correct statement:
Options:

Being a tough exam. I left many questions unanswered.

It bemng a tough exam, many questions left unanswered.

-2

It being a tough exam. I left many questions unanswered.

Being a tough exam. many questions were left unanswered.

I

Question Number : 175 Question Id : 9909114988 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:
The Global Financial System suffered a major

Options:
1 burnout



stroke

k-2

meltdown

kickback

Question Number : 176 Question Id : 9909114989 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

She ate the whole of 1t. ?

Options:
( isn'tit

didn’t she

]

did she

L

hasn’t she

=

Question Number : 177 Question Id : 9909114990 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:
A : How is your new principal?
B : He seems to be a heavy-handed person.

B implies that his principal 1s
Options:

1 sterm

clumsy

L2

3 fat

generons

Question Number : 178 Question Id : 9909114991 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Fill in the blank with the appropriate phrase/verb/preposition:

He has lost the memory of his past. labouring under a shock. He is suffering from

Options:
;. dyslexia
amnesia

k-2

. angina

4 Anorexia

Question Number : 179 Question Id : 9909114992 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blank with the appropriate phrase/verb/preposition:

Change the following sentence into passive voice:

=Shut the door.™
Options:
: Let shut be the door.

Shut let be the door.

-2

Let be the door shut.

Let the door be shut.

Question Number : 180 Question Id : 9909114993 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blank with the appropriate phrase/verb/preposition:
A : Why 1s your friend pacing?

B : He 1s waiting for a phone call like a cat on a hot tin roof.

B feels that his friend 1s very

Options:
1 curious



angry

L2

fast

okl

restless

Question Number : 181 Question 1d : 9909114994 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

He faced the music for failing in the examination.

The underlined phrase means that he
Options:
;  listened to lus favourite music

. enjoyed himself

trained himself in music

e

cXp erienced unp leasant cons cquences

Question Number : 182 Question Id : 9909114995 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

“He 1s very competent. But he works by fits and starts”.

The speaker implies that the one referred to here. works
Options:

| slowly

repeatedly
uregularly

msensitively

Question Number : 183 Question Id : 9909114996 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Choose the correct answer:

Choose the passive form for the sentence.

*“I am to do this work”
Options:

This work has to be done by me.

This work should be done by me.

L2

~ This work 1s to be done by me

Lad

I must do this work

b

Question Number : 184 Question Id : 9909114997 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blank with the appropriate phrase/verb/preposition:
A : Why did you deceive your enemy?
B : Everything 1s fair in love and war.
Bis
Options:

doubtful of his action

defending his action

speaking of his love for the enemy

praising both love and war

Question Number : 185 Question Id : 9909114998 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blank with the appropriate phrase/verb/preposition:

Raju 1s very studious. Every time I see him. I find him books.

Options:
poring out on



pormg over

L2

pouring on

pouring at

Question Id : 9909114999 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (186 to 190)
Question Label : Comprehension

Read the below passage and answer the following questions

Life 1s what you make of it. You are the author of your own story, and as such. it 1s
completely up to vou to decide when to say “Yes and when to say ‘No’. Your ability to
decide wisely will contribute greatly to your ability to live a less stressful life with more
time to do the things you actually want to do. rather than doing the things you feel you are
expected to do. However, it would also be unrealistic to expect anyone to live a
completely self-centred life, telling people ‘No® to every request that will not be to his or
her own benefit. Setting healthy boundaries and creating a balance between the number of
“Yeses® and *No's” will be the key to your success and well-being. You also must set
some boundaries when deciding whether to agree to something if it goes against your
moral and ethical standards. whether it 18 1n your personal life or your professional life. As
stated by Oprah Winfrey. “when you do not set healthy boundaries for yourself. you are
mviting people to ignore your needs”.

Sub questions

Question Number : 186 Question Id : 9909115000 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Life 15 shaped by

Options:

| fate

destiny
others

oneself

£

Question Number : 187 Question Id : 9909115001 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



What contributes to a less stressful life?
Options:
wise decisions
a self-centred existence

a philosophical attitude

idealism

by

Question Number : 188 Question Id : 9909115002 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What happens when one continually agrees to every request?

Options:
1 others are happy

others become more selfish

-2

it leads to self-contentment

it leads to discontentment

Question Number : 189 Question Id : 9909115003 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What does ‘setting healthy boundaries” mean?
Options:

| leading a healthy life

using one’s discretion

L2

avoiding confrontations

~ helping others.

I

Question Number : 190 Question Id : 9909115004 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



The passage does not mention as a consequence of setting boundaries,

Options:

success and well being
more time for ourselves

7 less stresstul Life

wealthy life

Question Id : 9909115005 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)
Question Label : Comprehension

Read the below passage and answer the following questions

The usual goals of monetary policy are to achieve or mamtain full employment. to
achieve or maintain a high rate of economic growth. and to stabilize prices and wages.
Until the carly 20® century. monetary policy was thought by most experts to be of little
use in influencing the economy. Inflationary trends after World War II. however. caused
governments to adopt measures that reduced inflation by restricting growth in the money
supply.

Monetary policy 1s the domain of a nation’s central bank. The Federal Reserve
System (commonly called the Fed) in the United States and the Bank of England of Great
Britain are two of the largest such “banks™ in the world. Although there are some
differences between them. the fundamentals of their operations are almost identical and
are usetful for highlighting the various measures that can constitute monetary policy.

The Fed uses three main instruments in regulating the money supply: open market
operations, the discount rate, and reserve requirements. The first 1s by far the most
important. By buying or selling government securities (usually bonds). the Fed — or a
central bank — affects the money supply and interest rates. If. for example. the Fed buys
government securities, it pays with a check drawn on itself. This action creates money in
the form of additional deposits from the sale of the securities by commercial banks. By
adding to the cash reserves of the commerecial banks. then, the Fed enables those banks to
merease their lending capacity. Consequently. the additional demand for government
bonds bids up their price and thus reduces their yield (i.e.. interest rates). The purpose of
this operation i1s to ease the availability of credit and to reduce mterest rates. which
thereby encourages businesses to invest more and consumers to spend more. The selling
of government securities by the Fed achieves the opposite effect of contracting the money
supply and increasing interest rates.

Sub questions



Question Number : 191 Question Id : 9909115006 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following 1s NOT usually the goal of monetary policy?

Options:

, To achieve or maintain high mflation.

To achieve or maintain high rate of economic growth.

To achieve or maintain full employment.

To stabilize prices and wages.

Question Number : 192 Question Id : 9909115007 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which factor promoted the governments to adopt measures for reducing inflation?

Options:

Early 20% century ideas about monetary policy.
1.

Trends of inflation after World War — IL

k-2

Economic growth in early 20™ century.

The Federal Reserve System.

I

Question Number : 193 Question Id : 9909115008 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Two of the largest central banks mn the world are

Options:
Federal Reserve System and Central Bank.

The Bank of United States and the Bank of England.

The Fed and the Federal Reserve System.

Lad

" The Fed and the Bank of England.



Question Number : 194 Question Id : 9909115009 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following 15 not an instrument used by the Fed in regulating money supply?
Options:

1 Reserve l'qulil‘ElllEIIT‘S

Discount rate

. Open-market operations

A Increasing inflation

Question Number : 195 Question Id : 9909115010 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the Fed buys government securities, how does it pay back?

Options:

; With a check drawn on government account.

With a check drawn on itself.

[

With a check drawn on public money.

With an overdraft.

=

Question Id : 9909115011 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)
Question Label : Comprehension



Read the below passage and answer the following questions

The jute industry occupies an important place in the national economy. It 1s one of
the major industries in the eastern region, particularly in West Bengal. Jute. the golden
fibre. meets all the standards for safe packaging in view of being a natural. renewable,
biodegradable and eco-friendly product.

Globally, India 15 the largest producer and second largest exporter of jute goods
and this sector supports the livelihood of about 40 lakh farm families, and provides direct
and indirect employment to 4 lakh workers. There are 77 jute mills in the country. Of
these 60 are in West Bengal. 3 each in Bihar and Uttar Pradesh. 7 in Andhra Pradesh. and

one each in Assam. Orissa. Tripura and Chhattisgarh,

The production of jute is concentrated in 36 districts of West Bengal. Orissa.
Bihar. Assam. Meghalaya, Tripura and Andhra Pradesh. In the 2008-09 jute season (July-
June), the production of raw jute was 90 lakh bales (180 kgs each).

Sub questions

Question Number : 196 Question Id : 9909115012 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

According to the passage. which is NOT true about jute?

Jute 1s

Options:

; eco-friendly

biodegradable

L2

: expensive

renewable

e

Question Number : 197 Question Id : 9909115013 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

India 1s the largest of jute,

Options:
| SXporter

producer

importer

L

4 COnsumer



Question Number : 198 Question 1d : 9909115014 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which state 1s not known for its production of jute?

Options:
| Tamil Nadu
- Assam

; West Bengal

Meghalaya

bl

Question Number : 199 Question Id : 9909115015 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which state has more than one jute null?
Options:
i Orissa

~ Chhattisgarh

L-2

Tripura

Laa

Uttar Pradesh

Question Number : 200 Question Id : 9909115016 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the incorrect statement:

Options:
i Jute is also called the golden fibre.

. The measure of 180 kgs 1s called a bale.

3 India 1s the largest exporter of jute.

After West Bengal. Andhra Pradesh has the highest number of jute mills.


https://www.aplustopper.com/previous-year-question-papers/

